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QUESTION 1

Which of the following classes corresponds to a work type? (Choose One)
A. Work-

B. MyCo-FW-HRApp-Work

C. MyCo-FW-HRApp-Work-EnrolIBenefits

D. MyCo-FW-Work

Correct Answer: C

QUESTION 2

What defines a reusable class structure that can be extended for specific implementations? (Choose One)
A. Framework layer

B. Class group

C. Implementation layer

D. RuleSet stack

Correct Answer: A

QUESTION 3

When implementing a case type, the best course of action is to:

A. Implement processes, then associate them with steps, and then identify stages
B. Identify stages, then identify steps, and then implement processes

C. Identify processes, then implement stages, and then add steps

D. Implement stages, then identify steps, and then implement processes

Correct Answer: D

QUESTION 4
From the following choices, select three statements that are true about a framework layer. (Choose Three)
A. The framework layer is a reusable application that can be used as the basis for a specific implementation

B. A framework layer may be built upon another framework layer
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C. A framework layer can support only one implementation layer
D. Rules applied to a class in the framework layer can be called from the implementation layer

E. During rule resolution, PRPC assembles one rule cache for the framework layer, and another rule cache for the
implementation layer

F. The framework layer may only consist of abstract classes

Correct Answer: ABD

QUESTION 5

Which statement is true about pattern inheritance? (Choose One)

A. It only applies to work classes

B. It causes a class to inherit rules from parent classes, matching its prefix to the parent class name
C. It is executed after directed inheritance

D. It makes it possible to define the parent explicitly, rather than by name

Correct Answer: B
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